


10
>t

i

L as

o v A W N

HIOR R R R

1>

|> Tl

1> 1>

|>

SA &
EEX|$= 1,000p 3|5
S} 1,000p 2|= YA
El1,000p 2|5 F82
SHAIE dat 9 1,000p 2
SFA|ZO| LotZ ek




| A=

3,250.00
3,200.00
3,150.00
3,100.00
3,050.00
3,000.00
2,950.00

2,900.00

ZM 0|7 2-38 =8 IHE AN =2 EHSH AME J

1,030.00
A 1,000.00

970.00

940.00

’ 910.00

880.00

\_—Tl_ﬁil 3,000p S}
(1/7, 3,031.68)

850.00

820.00
1/4 2/4 3/4 a/4

2149 1€

d71z= 7|t &

SN Y 7Hd




C SiX

—

0

16.0%
14.0%
12.0%
10.0%
8.0%
6.0%
4.0%
2.0%
0.0%
-2.0%
-4.0%
-6.0%

[EE

il

AX(ZAI| 30000 =i, 1.7) : CH

1,000p S, 4.12) : &4

== (A

28, M2, oftt S iy JHKIF FA)

< 2041% CH] AISHEE x|+ S2E >

H

ofy

!

=

k>

16.0%
14.0%
12.0%
10.0%
8.0%
6.0%
4.0%
2.0%
0.0%
-2.0%
-4.0%
-6.0%

8.2% 14.4%



2. 325X+ 1,000p 2=

I 4.12%¥ 1,000.65p =2 OtZotH, 208 770 & 0091410207004 THOY| 1,000pd 2|5

O A|7HEN - 290Z= (00T — 980E (10 ) — 3856 (20 — 4111 R(21.4.12, AbAF Z|CHX| 7| 2)

1,200
'08.9.11, £ M EZ 2}t '14.11.17,
'01.9.11, % 911 2{ &4 S e Ao
| 224 2897 h 4SS A
1,000 , /
'04.1.26, 11.8.5, '20.3.11,
AAE7|Z=X|Z ¥ Z (100 > 1,000) &P E T/ EBESE HE MW_:'ELPT&_HHIE
800 /
600 I V'Z ‘ ’ h / / i
400
'08.10.27,
k//,///i¢%ﬂ$ﬂﬂﬁ

200

2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020

mAZLEH () —ILEAS

2021

600.00

500.00

- 400.00

300.00

200.00

100.00

0.00



EE T8 3M T X5 dSE HAxE Y|

O/ =(NASDAQ) | 96%
0| =(S&P500)
0| = (DowJones)
2= (LA 0]225)
= 2 (DAX30)
I 2k A (CAC 40)
&= (FTSE100)
SIS

100% 120% 140%




O
=
Hr
)
Q.
()
()
=1
ur
<]
H
o

PN

AlE0l &2

CtH
=

7

A

HAZA

=
o

<
rd
I__/|
or
=3
ro
N
8.
uf

¢ Zgo| Mt

1o
if
K
™N
oF
of0
ro
ofll
™M
(@)
IH
il

o]
=

AP ZE] HA =

shf £

27|g0M A7 |82 2

Ko

RN




O
=
Hr
)
Q.
()
()
=1
ur
<]
H
o

r
0

-
=
E
-
=
]|
-

o
d
oF
d

24

81 /8

79

()

26 38 43 77 10
@
20

61

3!

=
Sl

(12)

(22 )

(21)

(12) (0

(@

)

1

‘=54

19

20

SPAC

¥ 1001 18 108 0

82

122

69

26

62

jol




ol +0.7 +1.2 -06 +0.3 +24 +5.7 +0.7 +3.8 +6.3 +163 +53

2|=9l 14 +0.1 +1.8 +1.0 -0.3 +10 +3.1 -06 -02 -0.1 -09
7|2 +1.4 -04 -03 -02 -02 -45 -18 -1.0 -35 -105 30

> 201 B AR FRO| 20148 7280 X|4 5|2S FE



| ZZL} 22 Hjo| 2 ME| U

(92]

AAEMS50
7 F LA O MM H| A

TS LM RHE| 5

2,876.16

1,278.80

198.81

554.83

2,054.24

FZL 0|=

¢ IZLH9 A H|kHIO|2FT} 20 M H(3.19) O|= X|

2,159.36

798.89

127.49

324.91

1,361.34

5,578.37

1,937.26

261.84

661.13

2,684.58

158%

142%

105%

103%

97%

4,683.29

2,050.87

276.66

798.54

3,030.65

117%

157%

117%

146%

123%

10



3 sEAcE
4 Jlgew
5 Lomya
6 sjzss
T SBS

8  OfAlojLtE S
9 48-L

10 AMAZE

1.0

0.7

0.6

0.6

0.4

0.3

0.2

MEREN

SKHZCHIE
clead
EARICT
M
H| 7} 2 E{ ]
OCIHE|Z|Y¥ =
)

N ESTIES

1.4

1.3

1.1

1.1

1.1

1.0

1.0

of o] x| & |
SKHE|2|E=
OfR==2H|Y
It AY=

Ho{H[~

Ao[AEH=+

5.0

4.9

3.8

3.6

3.4

3.4

3.2

11



12

1ol _ ol
5 = 1 mﬂ:
= _.___E &1 10 K —_—

> Mix K&

- O < I 1
TN = o oD
ol o, NI EE
ol O K U K X R

= % — o or O klo
Mu << <My <dol
K0 E_n W K~ KO K0
il K o ®iol
T T3l T M KO

o] o]
Z0 K0

wuw

o
ol
Hr
()
o
-
o
=1
oK

VOl U SO K X0

T WoDA 0=
S |
o R

= _

<4 <l

Ml < T 3

{0{ - 80 Kd Torl

— <!z 31 oo

on — — |_| LII_l
e ol < <A L1 Joll

el ST oo DO
i Onp mr = oEr
—— —_

EQ o7 W STK-
=] ol BTl <Ko
i (o) o X




1.AE H=Z20d St B -

h

R R
IPOEd 3}

2. E2 o|d =&

A AL} Rerating Al 7| -

13



F

—
o
—

Al 2=t

0 B3| Tf
2]

D~
S}

EH 7ol o

=
S

Qo=
=1t
=l

L2
RER|

o
i

O JHQIEAtAHE OfL2t
7|

==

=

ot
=

AFRFAL
oo

APKIA

O
CtH
=

E
T

14



